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All India Maha Mock RBI Grade-B (4-March-2021) 
 

Directions (1-5): Study the following information carefully and answer the questions given below: 

 

A certain number of persons are sitting around a circular table equidistant from each other facing the 

center. Four persons are sitting between P and R. One person is sitting between R and S. T is sitting 

immediately left of Q and neither of them sit next to S. Ten persons are sitting between P and V when 

counting from right of P. Q sits third to the left of R. U who is one of the immediate neighbours of T 

sits fifth to the right of V. 

 

Q1. How many persons are sitting in the circle? 

(a) 25 

(b) 29 

(c) 27 

(d) 26 

(e) Cannot be determined 

 

Q2. How many persons are sitting between P and R when counted from left of P? 

(a) 3 

(b) 5 

(c) 4 

(d) 6 

(e) None of these 

 

Q3. Who sits third to the right of the one who sits fifth to the left of S? 

(a) Q 

(b) P 

(c) V 

(d) R 

(e) None of these 

 

Q4. If Q and U interchange their positions, then who sits 

seventh to the left of U? 

(a) P 

(b) R 

(c) V 

(d) Either (A) or (B) 

(e) None of these 
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Q5. If number of persons sitting between P and V becomes less than ten then how many minimum 

numbers of persons are sitting between S and V when counting from the right of S? 

(a) 6 

(b) 5 

(c) 3 

(d) 9 

(e) 13 

 

Directions (6-10): In each of the questions below. Some statements are given followed by 

conclusions/group of conclusions. You have to assume all the statements to be true even if they 

seem to be at variance from the commonly known facts and then decide which of the given 

conclusions logically does not follow from the information given in the statements. 

 

Q6. Statements: All tables are fans. Some fans are chair. No table is desk. 

Conclusion:  

(a) All chairs can be fans 

(b) All Fans can be desk 

(c) Some fans cannot be desk 

(d) Some chair can be desk 

(e) Some chair can be table 

 

Q7. Statements: Some English are Hindi. All English are Sanskrit. No Hindi is language. 

Conclusions:  

(a) All English can be Hindi 

(b) All Hindi can be Sanskrit 

(c) Some Sanskrit is English 

(d) Some English can be Language 

(e) All Sanskrit can be Language 

 

Q8. Statements: Some toffees are candies. Some candies are cookies. Some cookies are chocolates. No 

chocolates are toffees. 

Conclusions: 

(a) Some cookies are candies 

(b) Some candies can be chocolates 

(c) Some candies are not chocolates is a possibility 

(d) Some toffees are not chocolates 

(e) Some toffees can be cookies 
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Q9. Statements: Some cricket is football. All tennis is football. All volleyball is cricket. 

Conclusions:  

(a) Some Volleyball can be Tennis 

(b) Some Tennis can be cricket 

(c) All cricket can be football 

(d) Some football can be cricket 

(e) Some cricket is volleyball 

 

Q10. Statements: No red is green. All green is yellow. All blue is red. 

Conclusion:  

(a) Some red can be yellow 

(b) Some yellow can be blue 

(c) All red can be Blue 

(d) Some green can be blue 

(e) All yellow can be green 

 

Directions (11-15): Study the following information carefully and answer the questions given 

below: 

 

Ten persons A, X, L, M, Q, T, N, K, Z and G lives in a building of five floors such that ground floor is 

numbered as 1 and floor above it is 2 and so on up to top floor which is numbered as 5. Each of the 

floors consists of 2 flats as flat-1and flat-2. Flat-1 of floor-2 is immediately above flat-1 of floor-1 and 

immediately below flat-1 of floor-3 and in the same way flat-2 of floor-2 is immediately above flat-2 of 

floor-1 and immediately below flat-2 of floor-3 and so on. Flat-2 of each floor is in east of Flat-1. T 

lives west of N and is immediately above the floor on which L lives and both T and L are living on 

the same numbered flat. K lives on an odd numbered flat but not with G. There are two floors 

between Q and G who does not live immediately above or below the floor on which N lives. There 

are two floors between L and Z. Q lives on an even numbered flat. A who does not live on the 

topmost floor is north-west of M who does not live on the bottom most floor. K lives on one of the 

floors below T. G lives at Flat 2. 

 

Q11. Who among the following lives in flat-1 of 5th floor? 

(a) Z 

(b) A 

(c) N 

(d) L 

(e) None of these 
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Q12. How many floors are there between T and A? 

(a) One  

(b) None 

(c) Two  

(d) Three 

(e) Cannot be determined 

 

Q13. On which floor does G lives? 

(a) Floor-1 

(b) Floor-2 

(c) Floor-3 

(d) Floor-4 

(e) Floor-5 

 

Q14. Who among the following live to the west of M? 

(a) T 

(b) L 

(c) K  

(d) Z 

(e) A 

 

Q15. Four of the following five belongs to a group. Who does not belong to the group? 

(a) N 

(b) Q 

(c) L 

(d) M 

(e) X 

 

Directions (16-20): Study the information carefully and answer the questions given below. 

 

There is 3*5 matrix which can produce signals which in turn help in the illumination of some bulbs. 

The row of the matrix are denoted by &, % and $ from top to bottom and the columns are denoted by 

the alphabets P, Q, R, S, T from left to right. 

 

& row contains numbers which are consecutive multiple of 5, starting from 10 (from left to right). 

% row contains numbers which are consecutive multiple of 6, starting from 12 (from left to right). 

$ row contains numbers which are consecutive multiple of 7, starting from 14 (from left to right). 

 

The matrix helps in producing signals which can be either a single string of number X- or two-line 

string X and Y. 

There are 4 lights A, B, C, D. Based on the outcome of the strings mentioned above one of the light 

blinks. 
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Condition for blink: 

1. If the outcome is below 80, then A will blink 

2. If outcome range is 81-120, then B blinks 

3. If outcome range is 121-170, then C blinks 

4. If the outcome is greater than 170, then D blinks 

 

For outcome of the string: 

1. If the string has all even numbers, then outcome of the string is obtained by adding all the 

numbers. 

2. If an odd number is followed by an even number then the one’s places of all the two-digit numbers 

are deleted and, tenth place are multiplied to get the outcome.  

3. If the string contains only two odd numbers, then the tenth’s place is deleted from each of the two-

digit number and remaining number are multiplied. 

4. If no above logic is followed, then simple outcome is addition of the numbers. 

 

Q16. If X =$R %Q &S $P, then which bulb will blink? 

(a) C 

(b) B 

(c) A 

(d) D 

(e) Either C or D 

 

Q17. If X = &P $T %S %Q, and Y= %P %R $S $Q and resultant is X-Y, then which bulb blink? 

(a) D 

(b) B 

(c) A 

(d) C 

(e) Either A or B 

 

Q18. If X = &P %T %P $Q, and Y= $T &S $R. The resultant is 

X+Y, then which bulb blink? 

(a) C 

(b) A 

(c) B 

(d) D 

(e) Either A or B 
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Q19. If X =%P $S %R and Y= $S$R &Q. The resultant is X+Y, then which bulb blink? 

(a) B 

(b) A 

(c) D 

(d) C 

(e) Either C or D 

 

Q20. If X = $Q &T $R %R, then which bulb blink? 

(a) B 

(b) C 

(c) A 

(d) D 

(e) Either C or D 

 

Directions (21-25): Study the information carefully and answer the questions given below. 

 

Six Bowlers are playing match in different days of a week i.e. Monday, Tuesday, Wednesday, 

Thursday, Friday and Saturday. Week starts from Monday. They all are taking different no. of 

wickets in the match. One Bowler can take at most 10 wickets. Three bowlers play match between E 

and M and both of them take odd numbered wickets. Bowler who takes 5 wickets plays match just 

before O and just after D. Bowler who takes 6 wickets plays match in Wednesday. Two Bowlers play 

match between F and N but both doesn’t take even numbered wickets. Addition of wickets taken by 

M and O is 15. There are as many bowlers play the match before F as after the bowler who takes 9 

wickets. F takes more than 2 wickets. 

 

Q21. Who among the following person plays match on Friday? 

(a) D 

(b) E 

(c) O 

(d) N 

(e) None of these 

 

Q22. In which of the following days F plays the match? 

(a) Tuesday 

(b) Monday 

(c) Wednesday 

(d) Thursday 

(e) None of these 
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Q23. What is the total sum of the wickets taken by D and E? 

(a) 13 

(b) 14 

(c) 15 

(d) 16 

(e) None of these 

 

Q24. If D is related to 8, M is related to 5 then, in the same manner N is related to _____? 

(a) 3 

(b) 6 

(c) 7 

(d) 9 

(e) None of these 

 

Q25. Four of the following five are alike in certain way based from a group, find the one which 

does not belong to that group? 

(a) F- Tuesday 

(b) O-Saturday 

(c) D- Thursday 

(d) N- Monday 

(e) M- Wednesday 

 

Q26. If each of the odd position in the letter INDEPENDANCE is changed to its following letter 

according to alphabetical order and each of the even position letter is changed to its previous letter 

according to the alphabetical order, then how many letters in the new arrangement are not 

repeated? 

(a) Five 

(b) Two 

(c) Three 

(d) Four  

(e) More than five 

 

Q27. In a certain code, REMEMBER is written as FNFSSFCN. How is CLOTHING written in the 

code?  

(a) UPMDOHJI  

(b) UPDMOHJI 

(c) UPDMHOJI   

(d) UPMDHOJI 

(e) None of these 
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Directions (28-30): Study the information carefully answers the questions given below. 

@ means either hour hand or minute hand is at 7 

# means either hour hand or minute hand is at 10 

$ means either hour hand or minute hand is at 6 

% means either hour hand or minute hand is at 9 

& means either hour hand or minute hand is at 12 

µ means either hour hand or minute hand is at 5 

Note: if two symbols are given than by default second symbol is consider as minute hand and first 

symbol is considered as hour hand. 

 

Q28. If Rohan leaves from house to office at µ@. Usually he takes 1 hour 30 min to reach office, but 

that time he reaches 5 min earlier, then at what time he will reach office? 

(a) @µ 

(b) @& 

(c) $# 

(d) $µ 

(e) None of these 

 

Q29. A person takes 125 minutes to reach at a meeting from his company. The meeting is 

scheduled at ‘%%’ so at what time should he leave from his company for the meeting to arrive 40 

minutes earlier? 

(a) µ& 

(b) µ@ 

(c) @& 

(d) &$ 

(e) None of these 

 

Q30. If a person starts at ‘$#’ and he takes 110 minutes to reach his office, but in the way his bike 

breakdown due to which his 20 minutes got waste, at what time he will reach to office? 

(a) %& 

(b) @& 

(c) &% 

(d) #$ 

(e) None of these 

 

Q31. Statement: Rivers in western Uttar Pradesh like Kali, Krishna and Hindon have been 

polluted to dangerous levels because of the industrial waste released illegally into them by the 

industries. 

Which of the following course of action should be taken by the government to make the river clean? 

(a) Heavy fine should be slapped on the industries polluting the river water. 

(b) Industrial waste should not be allowed to flow into the river. 

(c) Industries should be shifted to some other locations of the state. 

(d) All the industries located on the bank of the river should be closed down. 

(e) Only (B) and (C) 
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Q32. Statement: A slump in home sales has pushed builders’ inventory to “unsustainable levels” in 

the National Capital Region of Delhi, creating conditions for a real price correction that developers 

have so far avoided. 

Which of the following statements is definitely true on the basis of the given statement? 

(a) Demand for houses is quite low in most of the big cities. 

(b) The high inventory level will hamper the ability of launching new projects by the builders. 

(c) Builders in the market who have shown a good track record of delivering on time and on their 

promises have been able to garner sales even in this slow market. 

(d) Unless this unsold stock gets absorbed, it will be difficult for consumer confidence to come back 

in this market. 

(e) High prices have pushed most of the on-sale apartments beyond the reach of average home 

buyers. 

 

Q33. Statement: According to the manpower Employment Outlook Survey, globally, Indian 

employers are the most upbeat on hiring plans in the fourth quarter ending December 2015. 

Which of the following can be an assumption in the given information? (An assumption is something 

that is supposed or taken for granted) 

(A) Decline in the profit margins of the company 

(B) Establishment of more branches by the MNCs in India 

(C) Maintenance of positive growth rate by the MNCs in India. 

(D) Increase in the growth of service sector in June 2015. 

(a) Only A and C 

(b) Only B and D 

(c) Only A and B 

(d) Only C and D 

(e) Only B and C 

 

Directions (34-38): Study the following information carefully and answer the questions given 

below: 

 

Seven students are giving exams of different subjects. Each student gives different subjects exam. 

They get different marks in the exam i.e. 21, 26, 30, 41, 49, 58, 70. Passing marks in each subject exam 

is 40.  

Four person’s marks is in between C and the student who gives Zoology exam. Difference between 

the marks of the students who give exam of Hindi and English is 9. C gets passing marks in the exam. 

B gets just more marks than the student who gives Botany exam and just less marks than the student 

who gives English exam. G gets more marks than B and less marks than F and all three get passing 

marks. D gets marks which is divisible by 10. E gets more marks than A and less marks than the 

student who gives Biology exam. Student who give Chemistry exam gets more marks than the 

student who gives History exam. A doesn’t give Zoology exam. B doesn’t give Chemistry exam.  
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Q34. Who among the following student give history exam? 

(a) B 

(b) C 

(c) D 

(d) A 

(e) None of these 

 

Q35. How many marks the student who gives Biology exam is getting? 

(a) 21 

(b) 30 

(c) 26 

(d) 41 

(e) None of these 

 

Q36. Which of the following subject exam C is giving? 

(a) Hindi 

(b) Chemistry 

(c) English 

(d) History 

(e) None of these 

 

Q37. What is the difference in the marks which is getting by E and F? 

(a) 5 

(b) 29 

(c) 32 

(d) 40 

(e) None of these 

 

Q38. C is related to English; G is related to Botany then in the 

same manner Who is related to Zoology? 

(a) B 

(b) A 

(c) D 

(d) E 

(e) None of these 
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Directions (39-42): Study the following information carefully to answer the given questions:  

 

A word and number arrangement machine when given an input line of words and numbers 

rearranges them following a particular rule. The following is an illustration of input and 

rearrangement.  

 

Input: 2563 2156 8536 3245 2587 4521 

Step I: 2356 1256 3568 2345 2578 1245 

Step II: 3568 2578 2356 2345 1256 1245 

Step III: 22 22 16 14 14 12 

Step IV: 11 11 8 7 7 6 

 

Step IV is the last step of the rearrangement. As per the rules followed in the above steps, find out in 

each of the following questions the appropriate steps for the given input. 

Input: 7584 2563 2754 8965 2145 6424 

 

Q39. What will come when 3rd number from left in step I is divided by 4th number from right in 

step IV? 

(a) 113 

(b) 184 

(c) 273 

(d) 322 

(e) None of these  

 

Q40. What will come after adding the numbers which is second, fourth and sixth from the left end 

in step III? 

(a) 52  

(b) 56  

(c) 58 

(d) 62  

(e) None of these  

 

Q41. Which of the following would be the difference of the numbers which is 2nd from left end in 

step III and 3rd from right end in Step IV? 

(a) 12    

(b) 16 

(c) 18    

(d) 20 

(e) None of these  
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Q42. Which of the following element will be 2nd to the right of 3rd from the left end in step II?  

(a) 5689  

(b) 4578  

(c) 2457  

(d) 2446 

(e) None of these  

 

Q43. Analyzing resting state functional MRIs, the study, published recently in the online journal 

NeuroImage Clinical, reveals that HIV-infected children have lower neuropsychological test 

scores thus reflecting reduced memory span, attention deficit and decreased visual-motor 

coordination among other conditions. 

Which of the following can be inferred from the given statement? 

(a) Those children who are not infected with HIV have sharper memory. 

(b) Only MRI’s can provide the exact picture or image of your inside body. 

(c) These symptoms such as reduced memory span, attention deficit and decreased visual-motor 

coordination can only be seen among children. 

(d) HIV is a disease which only affects the brain in the human body. 

(e) HIV infected Children who are neuropsychologically stronger are less venerable towards disease 

such as reduced memory span, attention deficit etc. 

 

Directions (44-48): Study the following information carefully to answer the given questions:  

 

Seven persons of different ages i.e. 11, 16, 25, 33, 40, 49, 55 are sitting in a single row. All are facing 

North.  

Two persons are sitting between J and K and one of them are sitting at extreme end. O sits 2nd to the 

left of J, who is youngest. Sum of the ages of the immediate neighbors of O is 74. Four persons are 

sitting left of L whose age is divisible by 5. Ages of the persons sitting at extreme ends are perfect 

squares. N sits between M and P whose age is divisible by 11. Neither L nor P is oldest person. N’s 

age is divisible by 5. 

 

Q44. Who among the following is oldest person? 

(a) J 

(b) K 

(c) M 

(d) N 

(e) None of these 

 

Q45. How many persons are sitting between M and O? 

(a) None  

(b) One 

(c) Two 

(d) Three 

(e) More than three 
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Q46. What is the difference of the ages of P and N? 

(a) 5 

(b) 7 

(c) 8 

(d) 9 

(e) None of these 

 

Q47. Which of the following is true? 

(a) L-25 

(b) M-49 

(c) N-33 

(d) O-40 

(e) None is true 

 

Q48. If J is related to 55, K is related to 40 then in the same manner L is related to _____? 

(a) 11 

(b) 25 

(c) 33 

(d) 49 

(e) 16  

 

Directions (49-51): In the following questions, the symbols #, &, @, *, $, % and © are used with the 

following meanings as illustrated below. Study the following information and answer the given 

questions: 

P@Q - P is the son of Q. 

P#Q - P is the child of Q. 

P©Q - P is the parent of Q. 

P$Q - P is younger than Q. 

P%Q- Q is sister of P. 

P&Q- Q is the son-in-law of P. 

P*Q- P is the husband of Q. 

 

Q49. If A@C%B&D*E, then how is C related to E? 

(a) Mother 

(b) Uncle 

(c) Aunt 

(d) Either (B) or (C) 

(e) None of these 
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Q50. If A%C©D#E©F%L and E has only one daughter, then how is D related to A? 

(a) Nephew 

(b) Niece 

(c) Brother-in-law 

(d) Cannot be determined 

(e) Son 

 

Q51. If A&B©D#E%F and F$E, and if the ages of A and E are 55 and 35 respectively, what could be 

the possible age of F? 

(a) 34 

(b) 33 

(c) 56 

(d) None of these 

(e) Either (A) or (B) 

 

Directions (52-54): Each of the questions below consists of a question and two statements 

numbered I and II given below it. You have to decide whether the data provided in the statements 

are sufficient to answer the question. Read both the statements and give answer. 

 

Q52. Six persons i.e. P, Q, R, S, T, U are sitting in a circular table but not necessarily in same order. 

All are facing towards center. Who sits immediate left of Q? 

Statement I: P sits 2nd to the right of Q, who is not an immediate neighbor of R. S faces T. 

Statement II: Q sits 2nd to the left of R. T faces P, who is an immediate neighbor of S. 

(a) if the data in statement I alone are sufficient to answer the question, while the data in statement II 

alone are not sufficient to answer the question. 

(b) if the data in statement II alone are sufficient to answer the question, while the data in statement I 

alone are not sufficient to answer the question. 

(c) if the data either in statement I alone or in statement II alone are sufficient to answer the question. 

(d) if the data given in both statements I and II together are not sufficient to answer the question. 

(e) if the data in both statements I and II together are necessary to answer the question. 

 

Q53. Five persons i.e. A, B, C, D, E are of different ages but not necessarily in same order. who is 

oldest person? 

Statement I: A is younger than B. C is older than only two persons. B is older than D.  

Statement II. E is younger than D and older than A. C is younger than B. 

(a) if the data in statement I alone are sufficient to answer the question, while the data in statement II 

alone are not sufficient to answer the question. 

(b) if the data in statement II alone are sufficient to answer the question, while the data in statement I 

alone are not sufficient to answer the question. 

(c) if the data either in statement I alone or in statement II alone are sufficient to answer the question. 

(d) if the data given in both statements I and II together are not sufficient to answer the question. 

(e) if the data in both statements I and II together are necessary to answer the question. 
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Q54. What is the code of “demand”?  

Statement I: “demand supply graph” is coded as “fg ty hj” and “supply graph declined” is coded as 

“ty fg bv”. 

Statement II: “industrial goods demand” is coded as “as bh nj” and “sugar demand decreases” is 

coded as “bh mk lk”. 

(a) if the data in statement I alone are sufficient to answer the question, while the data in statement II 

alone are not sufficient to answer the question. 

(b) if the data in statement II alone are sufficient to answer the question, while the data in statement I 

alone are not sufficient to answer the question. 

(c) if the data either in statement I alone or in statement II alone are sufficient to answer the question. 

(d) if the data given in both statements I and II together are not sufficient to answer the question. 

(e) if the data in both statements I and II together are necessary to answer the question. 

 

Directions (55-57): In the following questions, the symbols @, #, %, $ and © are used with the 

following meaning as illustrated below- 

‘P#Q’ means ‘P is neither greater than nor equal to Q’ 

‘P©Q’ means ‘P is neither equal to nor smaller than Q’ 

‘P%Q’ means ‘P is neither smaller than nor greater than Q’ 

‘P$Q’ means ‘P is not smaller than Q’ 

‘P@Q’ means ‘P is not greater than Q’ 

Now in each of the following questions assuming the given statement to be true, find which of the 

three conclusions I, II and III given below them is/are true and give your answer accordingly. 

 

Q55. Statements: J%L, T@L, L#M 

Conclusions: I. M©L  

II. T#J  

III. T%J 

(a) Only I is true 

(b) Either II or III are true 

(c) None is true 

(d) I and either II or III are true 

(e) None of these 

 

Q56. Statements: K@T, L#M, K$L, L©R 

Conclusions: I. T©M  

II. L©T  

III. T#R 

(a) None is true 

(b) Only I is true 

(c) Only II is true 

(d) Either I or II is true 

(e) Only III is true 
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Q57. Statements: G©R%H@N©J 

Conclusions: I. H#N  

II. J#G  

III. R$J 

(a) Only I is true 

(b) Only II is true 

(c) Both I and II is true 

(d) Either I or III is true 

(e) None is true 

 

Directions (58-59): Read the following information carefully and 

answer the questions which follow. 

 

Point I is 10 km north of point F. Point F is 12km west of point G. Point R is 20km north of point M. 

Point T is 14km west of point R. Point L is exactly midway between point R and point M. Point G is 

10km south of point T. Point J is 20km south of I. 

 

Q58. What is the direction of point T from point M? 

(a) North-east 

(b) North-west 

(c) South-east 

(d) South-west 

(e) North  

 

Q59. If point N is exactly midway between point T and point R, then what is the shortest distance 

between point N and point G? 

(a) √149 

(b) 149 

(c) √139 

(d) 139 

(e) None of these 

 

Q60. Statement: World Bank doubles funding to $200 billion to tackle climate change, sending an 

important signal to the wider global community to do the same. 

Which of the following can be assumed from the given statement? 

Assumption: I. Climate change is one of the greatest environmental threat humanities has ever faced 

and it is harming people and ecosystems around the globe. 

II. The issue of climate change requires more attention than poverty, corruption and financial crisis, 

which in turn require more funds.  

(a) Only II 

(b) Either I or II 

(c) Only I 

(d) Neither I nor II 

(e) Both I and II 

https://www.adda247.com/product-testseries/7826/rbi-office-attendants-2021-online-test-series


17 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

Q61. Ratio of numerical value of rate of interest and time period is 4 : 1. Man invested Rs. 2400 and 

gets Rs. 864 as simple interest. Find the value of X, if man invested Rs. (2400 + X) at same rate of 

interest on C.I. for two years and get Rs. 814.08 as interest?  

(a) 600 Rs.  

(b) 800 Rs.  

(c) 400 Rs.  

(d) 200 Rs. 

(e) 1000 Rs. 

 

Q62. Ratio of speed of faster train to slower train is 9 : 7 and length of two trains is 120 m and 180 

m respectively. If both trains increased their respective speed by 25% and then cross each other in 

36 sec running in same direction, then find in what time both trains cross each other running in 

opposite direction with their usual speed?  

(a) 64/6 sec 

(b) 58/6 sec 

(c) 52/6 sec 

(d) 49/8 sec 

(e) 45/8 sec 

 

Q63. A and B entered into a business with the capital of Rs. (X + 1200) and Rs (X+1500) 

respectively. After eight months from starting A withdraw half of his investment and B doubled 

his investment. If at the end of the year A got Rs. 4250 as profit share out of total profit of Rs. 

11250, then find three times of initial investment of B ?   

(a) Rs 32,400 

(b) Rs 30,750 

(c) Rs 30,500 

(d) Rs 31,500 

(e) Rs 31,770 

 

Q64. Two farmers A and B have mixture of potassium and Urea in the quantity of (θ + 54) kg & (θ + 

84) kg respectively. The ratio of potassium and Urea in mixture which farmer A has is 3 : 2, while 

farmer B has 2 : 1. If 60% and 66 ⅔% of their respective mixture farmer A and B used for their field 

and the remaining mixture of A and B are equal, then find the quantity of potassium in the 

mixture of farmer B has ?    

(a) 60 kg 

(b) 120 kg 

(c) 90 kg 

(d) 100 kg 

(e) 75 kg 
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Q65. A bag contains seven red balls, ‘a’ green balls & ‘b’ yellow ball. If one ball taken out from 

bag, then probability of being it green is 5/16, while being it yellow is ¼. Find difference between 

number of green and yellow balls in that bag? 

(a) 1 

(b) 0 

(c) 2 

(d) 4 

(e) 3 

 

Directions (66-70): Given below is a pie-graph that shows percentage of HR managers out of total 

HR managers in five different companies i.e. A, B, C, D and E in March, 2016.  

 
Note: Any HR manager leaves or enters a company only in April 2017.  

 

Q66. The ratio of male HR managers to female HR managers in company D in 2016 was 3 : 2 and 24 

female HR managers left the company D in 2017. Find the percentage increase in number of 

female HR managers in company D in 2017 if there were 42 male managers out of newly recruited 

72 managers.  

(a) 8 ⅓%  

(b) 8% 

(c) 9% 

(d) 6 ⅔% 

(e) 9 ⅓% 

 

Q67. In 2017 33 ⅓% HR managers from company A shifted to company B. If ratio of male to female 

HR managers in company A and B in 2016 was 5 : 7 and 3 : 1 respectively and 25 female manager 

left company A, then find remaining male managers in company A is what percent of number of 

male managers in company B in 2017.  

(a) 68 ⅓% 

(b) 58 ⅓% 

(c) 48 ⅓% 

(d) 38 ⅓% 

(e) 60 ⅓% 
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Q68. The ratio of male to female HR managers in company C in 2016 was 5 : 4 while in 2017 the 

ratio was 11 : 9. If 13 female HR managers joined company C in 2017, then find total number of HR 

managers in company C in 2017.  

(a) 200 

(b) 150 

(c) 100 

(d) 250 

(e) 300 

 

Q69. In 2017, 25% of HR managers from company D left the job and company B recruited 40% 

more HR managers more than the number of HR managers it had in 2016. If ratio of male to 

female HR managers in company D and B becomes 8 : 7 and 7 : 5 respectively, then find the ratio 

of number of male HR managers in company D in 2017 to number of female HR managers in 

company B in 2017.  

(a) 71:32 

(b) 45:34 

(c) 65:36 

(d) 72:35 

(e) 72 : 37 

 

Q70. If in 2017 company A and C fired 20% and 25% of their HR managers respectively, then find 

the remaining number of HR managers in these two companies in 2017 is what percent of number 

of total HR managers in company E in 2016. (approximate value)  

(a) 100% 

(b) 200% 

(c) 300% 

(d) 250% 

(e) 400% 

 

Directions (71-75): In a coaching class total no. of students are 336 

and each student likes at least one subject out of three subjects i.e. 

(quant, reasoning and English). No. of students who like only 

quant are 60 and no. of students who like reasoning with at most 

one more subject are 133⅓% more than no. of students who likes 

only English. Total no. of students who like all three subjects are 

7
1

7
% of total students of the class and ratio of students who like 

both quant and English only, no. of students who like both 

reasoning and English only and student who like both quant and 

reasoning only are 1:3:2. Total no. of students who like at least two 

subjects are 96.  
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Q71. Find no. of students who likes only reasoning? 

(a) 108 

(b) 124 

(c) 112 

(d) 144 

(e) 132 

 

Q72. What is the ratio of students who like both quant and reasoning only to students who like all 

the subjects together? 

(a) 1:2 

(b) 2:3 

(c) 1:1 

(d) 2:1 

(e) None of these. 

 

Q73. No. of students who likes both quant and English are what percent of students who likes 

only English? 

(a) 25% 

(b) 20% 

(c) 40% 

(d) 33.33% 

(e) 50% 

 

Q74. What is the average no. of students who likes only quant, only English and only reasoning? 

(a) 72 

(b) 60 

(c) 80 

(d) 100 

(e) 75 

 

Q75. No. of students who like both reasoning and English are what percent of students who like 

English? 

(a) 41.33% 

(b) 43.66% 

(c) 33.33% 

(d) 33.66% 

(e) 41.66% 
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Directions (76-80): What will come in the place of question (?) mark in the following number 

series: 

 

Q76. 12, 7, 8.5, 14.75, ?, 83 

(a) 30 

(b) 24 

(c) 32 

(d) 36 

(e) 48 

 

Q77. 12, 78, 395, 1584, 4755, ?  

(a) 9512 

(b) 9516 

(c) 9518 

(d) 9520 

(e) 9580 

 

Q78. 26, 53, 214, 1287, 10300, ? 

(a) 95000 

(b) 100005 

(c) 103000 

(d) 101005 

(e) 103005 

 

Q79. 4187, 2857, 2129, 1787, 1663, ? 

(a) 1647 

(b) 1642 

(c) 1627 

(d) 1637 

(e) 1630 

 

Q80. 27, 27, 54, 18, 72, ? 

(a) 19.6 

(b) 16.8 

(c) 18.8 

(d) 12.8 

(e) 14.4  
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Q81. Sum of present age of A and C is 75 years. Ratio of age of A five years ago to age of B five 

years hence is 5:8, and ratio of age of B five years ago to present age of C is 2:3. Find difference 

between present age of A and B?  

(a) 10 years 

(b) 5 years 

(c) 3 years  

(d) 8 year 

(e) 6 year 

 

Q82. B is 40% less efficient than A who can complete the work in 50% less time than C. If 75% of 

total works can be completed in 15 day by B working alone then find in how many day A and C 

working together can complete the 80% of the work?  

(a) 6.4 days 

(b) 4 days 

(c) None of these 

(d) 4.6 days 

(e) 6⅔ days 

 

Q83. Ratio of present salary of Ankit and Pankaj is 6:5 and ratio of their present salary to previous 

year salary is 4:3 and 5:4 respectively. If difference between previous year salary of Ankit and 

Pankaj is Rs.2000, then find present salary of Pankaj?  

(a) Rs 24000 

(b) Rs 18000 

(c) Rs 20000 

(d) Rs 16000 

(e) Rs 21000 

 

Q84. A shopkeeper gives 20% discount on each article. He also gives one article free at every 4 

articles he sold and earns 8% profit, if M.R.P. of each article is Rs. 270 find cost price of one article 

when he bought five articles? 

(a) Rs. 150 

(b) Rs. 120 

(c) Rs. 160 

(d) Rs. 100 

(e) Rs. 180 

 

Q85. If curved surface area and total surface area of a cylinder are 330m2 and 1023m^2 respectively. 

Find ratio of radius to height of cylinder? 

(a) 10 : 7 

(b) 7 : 5 

(c) 21 : 10 

(d) 21 : 5 

(e) 21 : 8 
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Directions (86-90): The following questions are accompanied by two statements, I and II. You have 

to determine which statements(s) is/are sufficient/necessary to answer the questions.  

 

Q86.   

I. A number P is first increased by 20% and then decreased by 66⅔% to obtain a number R . 

II. Sum of P and R is 1400 and P is 400% more than (R-200).  

(a) Either I alone or II alone  

(b) Only I  

(c) Only II 

(d) Neither I nor II 

(e) Both I and II together  

 

Q87. Find the distance travel by the boat in upstream.  

I. Speed of boat in still water is 60% more than the upstream speed. The total time taken by the boat 

to go a certain distance in upstream and come back is 36 hrs. 

II. Time taken by the boat to travel the same distance in downstream is 15 hrs. 

(a) Either I alone or II alone  

(b) Only I  

(c) only II 

(d) Neither I nor II 

(e) Both I and II together  

 

Q88. Find the age of Sohan?  

I. Average age of Rohan, Mohan and Sohan is 33 years. Age of Rohan is 20% more than the sum of 

ages of Mohan and Sohan.  

II. Age of Sohan is 62.5% of the difference between age of Rohan and age of Mohan. (Age of Rohan > 

Age of Mohan > Age of Sohan). 

(a) Either I alone or II alone  

(b) Only I  

(c) Only II 

(d) Neither I nor II 

(e) Both I and II together  

 

Q89. What is the discount percent given on the book? 

I. Cost Price of a book is 40% of sum of marked price and selling 

price of the book. Profit earned on the book is 16⅔%. 

II. Discount given on the book is Rs 100. 

(a) Either I alone or II alone  

(b) Only I  

(c) Only II 

(d) Neither I nor II 

(e) both I and II together  
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Q90. Find the time taken by B alone to finish the work? 

I. Efficiency of A is 40% of the efficiency of C and efficiency of B is 33⅓% of efficiency of A, B and C 

together. Time taken by A and C together to do the work is 6 hours. 

II. Difference between the time taken by A alone and C alone to finish the work is 12⅗ hours. 

(a) Either I alone or II alone  

(b) Only I  

(c) Only II 

(d) Neither I nor II 

(e) Both I and II together  

 

Directions (91-97): Read the passage carefully and answer the questions given below it. Certain 

words/ phrases are given in bold to help you locate them while answering some of the questions.  

 

The government’s move of bringing online news and current affairs portals along with “films and 

audio-visual programmes made available by online content providers” under the Ministry of 

Information and Broadcasting is as brazen as it is wily. Brazen, because this is an attack on the free 

press, targeted at a section that has been bold and forthright in speaking truth to power. Brazen, 

because this comes from a party, many of whose leaders’ claim to fame is that they were in the 

vanguard of the JP movement and fought the attack on the press during the Emergency under Indira 

Gandhi. And now they themselves have set out to make the media institutionally captive. 

Wily, because, it is clubbing the only sector of the media which has pre-censorship, namely films 

(through the Central Board of Film Certification), with the news media which has so far, at least 

officially, not been subject to pre-censorship, although media practitioners know the grave post-

publication consequences of airing news or views critical or adversarial to the government of the day. 

It neatly hijacks matters before the Supreme Court of India relating to freedom of the press and 

freedom of expression to arm the executive with control over the free press, thereby essentially 

making it unfree. 

The instant case is that relating to Sudarshan News, in which hate speech is being disingenuously 

sought to be passed off as freedom of the press. The government’s initial response was to ask the 

Court to look at regulating digital media rather than the mainstream TV channels. So, the case itself 

has become tricky — if a TV channel indulging in hate speech is to be brought to book, it must be at 

the cost of regulating the media. And regulation — other than self-regulation — is nothing but 

censorship. In fact, the excuse given by the government for this annexation of the digital media by the 

Ministry of Information and Broadcasting is that the self-regulation proposals given by the sector (the 

mandate and representativeness of the organisations in this sector which made these proposals are 

questionable in the first place) were not satisfactory. It, similarly, also hijacks another public interest 

litigation in the Supreme Court relating to content on “Over The Top” (OTT) platforms not being 

subject to regulation or official oversight to bring that sector too under the Ministry of Information 

and Broadcasting. 
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In other words, what we are seeing is these cases before the judiciary being made an excuse, and the 

august institution itself being made an unwitting alibi, to erode freedom of the press and freedom of 

expression, which are a fundamental right and a basic feature of the Constitution that no executive or 

legislature can tamper with or nullify. It seeks to divide and rule the press by creating an artificial 

distinction between the new-age digital media (the stand-alone news portals which are already 

struggling to stay afloat) — which is the media of the future, the media of the millennial generation 

— and the older print and TV news media. 

 

Q91. Why has the author said that “now they have themselves set out to make the media 

institutionally captive”? 

(a) as the media nowadays is sponsored by the government  

(b) government has revoked the license of all the bold and free media now  

(c) because now the government has acquired control over free media 

(d) new guidelines have been issued by the Broadcasting Ministry which are unfavorable for media 

(e) None of these 

 

Q92. Which of the following step has been taken to take over control by the government? 

(a) Censorship has been made mandatory for every digital sector 

(b) The merger of digital media which have different censorship approaches  

(c) The government has not done any interference in the media house compliance 

(d) the government has made more strict rules against violation of rules 

(e) None of these 

 

Q93. As per information given in the passage, which of the following statements supports the 

governments’ idea of censorship? 

(a) government intervention will provoke favoritism in media 

(b) some leader’s involvement in the movement during the emergency 

(c) regulation of digital media will hamper the freedom of the press 

(d) it is necessary to curb the hate speeches and their justification in media  

(e) None of these 

 

Q94. What does the author mean by the phrase ‘brought the book’ given in the passage? 

(a) let someone move freely as per their convenience 

(b) award someone for their appraising work 

(c) punish someone for an offence  

(d) asking someone for the their help  

(e) None of these 
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Q95. Which of the following statement is correct as per the given information in the passage? 

(a) Censorship of digital media brings other sectors too under Ministry of I&B 

(b) Media houses don’t have the right to criticize the government 

(c) Government found self-regulations proposals by media satisfactory 

(d) This is the first time when the press is being attacked 

(e) None of these 

 

Q96. According to the last passage, which of the following statements can be concluded? 

(a) The legislature has the rights to intervene in the freedom of media  

(b) Media regulation will affect the existence and development of new-age media 

(c) Media regulation will be beneficial for the society by combating hate speech 

(d) Government’s concern is media’s good environment only 

(e) None of these 

 

Q97. Which of the following given words is most similar in meaning to ‘ANNEXATION’ as used 

in the passage?  

(a) takeover 

(b) alter 

(c) granting 

(d) pave  

(e) rushed  

 

Q98. Which of the following given words is most opposite in meaning to ‘CAPTIVE’ as used in the 

passage? 

(a) prisoner 

(b) free 

(c) restrain 

(d) roam 

(e) shuttle 

 

Directions (99-103): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the 

proper sequence to form a meaningful paragraph and then answer the questions given below. 

(A) Now we are engaging with them daily, much like pets.  

(B) Moreover this trend for greenery is also moving into our interiors. 

(C) If one is ever solitary, they are fantastic companions. 

(D) For a lot of people, this is quite a unique experience. 

(E) Earlier, the help used to water the plants. 

(F) And there are many who swear by the idea of talking to plants!  
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Q99. Which of the following should be the FIRST sentence after rearrangement? 

(a) A 

(b) C 

(c) D 

(d) F 

(e) E 

 

Q100. Which of the following should be the SECOND sentence after rearrangement? 

(a) E 

(b) D 

(c) C 

(d) B 

(e) A 

 

Q101. Which of the following should be the THIRD sentence after rearrangement? 

(a) E 

(b) D 

(c) F 

(d) A 

(e) C 

 

Q102. Which of the following should be the FOURTH sentence after rearrangement? 

(a) B 

(b) D 

(c) A 

(d) F 

(e) C 

 

Q103. Which of the following should be the LAST (SIXTH) sentence after rearrangement? 

(a) D 

(b) A 

(c) B 

(d) C 

(e) F 
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Directions (104-108): In the following passage there are blanks, each of which has been numbered. 

These numbers are printed below the passage and against each, five options are given. Find out 

the appropriate word which fits the blank appropriately. 

 

Q104. China has begun work on a __________ (104) significant railway line — its second major rail 

link to Tibet — that will link Sichuan ___________ (105) with Nyingchi, which lies near the border 

with India’s Arunachal Pradesh. Underlining the special importance that the Chinese government 

has placed on the project, President Xi Jinping on Sunday officially “gave the instruction” to being 

work on the project and called it “a major step in __________ (106) national unity and a ___________ 

(107) move in promoting economic and social development of the western region”. The importance of 

the project, Chinese experts said, is two-fold. Like the Qinghai-Tibet railway line, which in 2006 

connected Lhasa to the hinterland, this will be the second such route linking the Tibet Autonomous 

Region (TAR) to the hinterland. Secondly, it will run right up to Nyingchi near the border with India, 

which it will link to both Lhasa and Chengdu, the provincial capital of Sichuan. The entire line will 

run from Chengdu to Lhasa, connecting the two capitals of TAR and Sichuan and ___________ (108) 

the journey from 48 hours to 13 hours. 

(a) ordinary 

(b) cordially  

(c) strategically  

(d) hostile  

(e) liberty 

 

Q105. China has begun work on a __________ (104) significant railway line — its second major rail 

link to Tibet — that will link Sichuan ___________ (105) with Nyingchi, which lies near the border 

with India’s Arunachal Pradesh. Underlining the special importance that the Chinese government 

has placed on the project, President Xi Jinping on Sunday officially “gave the instruction” to being 

work on the project and called it “a major step in __________ (106) national unity and a ___________ 

(107) move in promoting economic and social development of the western region”. The importance of 

the project, Chinese experts said, is two-fold. Like the Qinghai-Tibet railway line, which in 2006 

connected Lhasa to the hinterland, this will be the second such route linking the Tibet Autonomous 

Region (TAR) to the hinterland. Secondly, it will run right up to Nyingchi near the border with India, 

which it will link to both Lhasa and Chengdu, the provincial capital of Sichuan. The entire line will 

run from Chengdu to Lhasa, connecting the two capitals of TAR and Sichuan and ___________ (108) 

the journey from 48 hours to 13 hours. 

(a) province  

(b) constitute 

(c) credits  

(d) plank 

(e) victory 
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Q106. China has begun work on a __________ (104) significant railway line — its second major rail 

link to Tibet — that will link Sichuan ___________ (105) with Nyingchi, which lies near the border 

with India’s Arunachal Pradesh. Underlining the special importance that the Chinese government 

has placed on the project, President Xi Jinping on Sunday officially “gave the instruction” to being 

work on the project and called it “a major step in __________ (106) national unity and a ___________ 

(107) move in promoting economic and social development of the western region”. The importance of 

the project, Chinese experts said, is two-fold. Like the Qinghai-Tibet railway line, which in 2006 

connected Lhasa to the hinterland, this will be the second such route linking the Tibet Autonomous 

Region (TAR) to the hinterland. Secondly, it will run right up to Nyingchi near the border with India, 

which it will link to both Lhasa and Chengdu, the provincial capital of Sichuan. The entire line will 

run from Chengdu to Lhasa, connecting the two capitals of TAR and Sichuan and ___________ (108) 

the journey from 48 hours to 13 hours. 

(a) logistic 

(b) abdicate 

(c) thumping 

(d) safeguarding 

(e) margin 

 

Q107. China has begun work on a __________ (104) significant railway line — its second major rail 

link to Tibet — that will link Sichuan ___________ (105) with Nyingchi, which lies near the border 

with India’s Arunachal Pradesh. Underlining the special importance that the Chinese government 

has placed on the project, President Xi Jinping on Sunday officially “gave the instruction” to being 

work on the project and called it “a major step in __________ (106) national unity and a ___________ 

(107) move in promoting economic and social development of the western region”. The importance of 

the project, Chinese experts said, is two-fold. Like the Qinghai-Tibet railway line, which in 2006 

connected Lhasa to the hinterland, this will be the second such route linking the Tibet Autonomous 

Region (TAR) to the hinterland. Secondly, it will run right up to Nyingchi near the border with India, 

which it will link to both Lhasa and Chengdu, the provincial capital of Sichuan. The entire line will 

run from Chengdu to Lhasa, connecting the two capitals of TAR and Sichuan and ___________ (108) 

the journey from 48 hours to 13 hours. 

(a) policies 

(b) significant  

(c) gloomy 

(d) expectancy 

(e) remains 
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Q108. China has begun work on a __________ (104) significant railway line — its second major rail 

link to Tibet — that will link Sichuan ___________ (105) with Nyingchi, which lies near the border 

with India’s Arunachal Pradesh. Underlining the special importance that the Chinese government 

has placed on the project, President Xi Jinping on Sunday officially “gave the instruction” to being 

work on the project and called it “a major step in __________ (106) national unity and a ___________ 

(107) move in promoting economic and social development of the western region”. The importance of 

the project, Chinese experts said, is two-fold. Like the Qinghai-Tibet railway line, which in 2006 

connected Lhasa to the hinterland, this will be the second such route linking the Tibet Autonomous 

Region (TAR) to the hinterland. Secondly, it will run right up to Nyingchi near the border with India, 

which it will link to both Lhasa and Chengdu, the provincial capital of Sichuan. The entire line will 

run from Chengdu to Lhasa, connecting the two capitals of TAR and Sichuan and ___________ (108) 

the journey from 48 hours to 13 hours. 

(a) deluge 

(b) haggling 

(c) currently 

(d) situate 

(e) cutting  

 

Q109. In the following question, four sentences are given in which a sentence may be 

grammatically and contextually incorrect. You need to find the one which has an error and mark 

that as your answer. If all the given sentences are correct then mark option (E) i.e. ‘all are correct’ 

as your answer. 

(a) The Cabinet approved financial aid to government and aided school students. 

(b) The Supreme Court stayed the implementation of three controversial farm laws 

(c) The winter chill made a comeback with the minimum temperature settling at 4.3 degrees Celsius 

(d) The government has asked all DMs to submit a list of vaccination sites after checking its feasibility 

(e) All are correct 

 

Q110. In the following question, four sentences are given in which a sentence may be 

grammatically and contextually incorrect. You need to find the one which has an error and mark 

that as your answer. If all the given sentences are correct then 

mark option (E) i.e. ‘all are correct’ as your answer. 

(a) The NCB arrested one of the owner of the famous Paanwala 

shop in connection with a drugs case. 

(b) NSA said that the youth of India is bursting with energy to 

march ahead with patriotism. 

(c) Three members of a family have been arrested for allegedly 

stealing gold jewellery from a shop. 

(d) The effect of stubble burning on the city’s air quality remained 

low. 

(e) All are correct 
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Q111. In the following question, four sentences are given in which a sentence may be 

grammatically and contextually incorrect. You need to find the one which has an error and mark 

that as your answer. If all the given sentences are correct then mark option (E) i.e. ‘all are correct’ 

as your answer. 

(a) Members are held accountable by not just the sense of community, but also by bots that monitor 

their activity. 

(b) The Covaxin trial participants alleged that they were ignorant of what they were signing up for. 

(c) Today’s situation represents both the challenges and the need for social education in the country. 

(d) It noted that deaths, not due to violence, but either of illness or by way of suicide, had occurred 

already. 

(e) All are correct 

 

Q112. In the following question, four sentences are given in which a sentence may be 

grammatically and contextually incorrect. You need to find the one which has an error and mark 

that as your answer. If all the given sentences are correct then mark option (E) i.e. ‘all are correct’ 

as your answer. 

(a) Production was being carried out by production supervisors and other team members. 

(b) Initially data for this month suggests a continued plunge in vegetable prices. 

(c) Students studying together talk to each other during designated breaks. 

(d) Malaysia’s king declared a nationwide state of emergency to fight a coronavirus surge. 

(e) All are correct 

 

Q113. In the following question, four sentences are given in which a sentence may be 

grammatically and contextually incorrect. You need to find the one which has an error and mark 

that as your answer. If all the given sentences are correct then mark option (E) i.e. ‘all are correct’ 

as your answer. 

(a) The Court has ruled that the provision of publication of notice of intended marriage is not 

mandatory. 

(b) When many of the farmers spent Lohri away from their families, relatives of a few others visited 

them at the border. 

(c) The state government will provide free COVID-19 vaccination if the Centre fails to do so. 

(d) Washington is on high alert after the riot and with a week to go in Mr. Trump’s term. 

(e) All are correct 

 

Q114. In the following question, four sentences are given in which a sentence may be 

grammatically and contextually incorrect. You need to find the one which has an error and mark 

that as your answer. If all the given sentences are correct then mark option (E) i.e. ‘all are correct’ 

as your answer. 

(a) The U.S. announced all air travellers entering the country will need a negative COVID-19 test. 

(b) A team of scientists have confirmed detection of the new variant of the novel Coronavirus. 

(c) Four-wheeler passengers seated at the back must wear seat belts 

(d) A group of nine persons has joined farmers’ protest from Pune. 

(e) All are correct 
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Q115. In the following question, four sentences are given in which a sentence may be 

grammatically and contextually incorrect. You need to find the one which has an error and mark 

that as your answer. If all the given sentences are correct then mark option (E) i.e. ‘all are correct’ 

as your answer. 

(a) While a little more than half of the total population, around 52%, has a personal vehicle. 

(b) A consensual love affair is not a defence against the criminal charge of kidnapping. 

(c) More leaders will be inducted into the Cabinet during the bigger round of expansion. 

(d) A construction worker along with his friend were booked for the theft. 

(e) All are correct 

 

Directions (116-120): Each question below has two sentences with one blank each, which is 

indicating that something has been omitted from each sentence. Find out which option can be 

used to fill up the blanks in both the sentences to make them grammatically as well as 

contextually correct. 

 

Q116. (I) Home Office data shows the number of police officers ___________ resigning from the force  

(II) The hot dog stand _________ shut down in early January amid a citywide coronavirus spike. 

(a) quantum 

(b) regret 

(c) voluntarily 

(d) persuade 

(e) nostalgic 

 

Q117. (I) A Delhi court is likely to pronounce today its ____________ in criminal defamation 

complaint against journalist. 

(II) She said it was hoped that the SC _______ would help overcome horse-trading in the election.  

(a) internal 

(b) force 

(c) organize 

(d) crossover 

(e) verdict 

 

Q118. (I) The Punjab government on Monday decided to _______its excise act, introducing the death 

penalty. 

(II) GlaxoSmithKline (GSK) has decided to _________ a Covid-19 study that seeks to determine the 

effectiveness. 

(a) amend 

(b) approve 

(c) mutant 

(d) appearance  

(e) accelerate  
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Q119. (I) The positive albeit marginal growth reported in the third quarter of 2020-21 is _______ 

encouraging. 

(II) Online job site ________ has said that gaming sector job postings and searches were up by 13 per 

cent. 

(a) fiery 

(b) reflect 

(c) notions 

(d) indeed 

(e) counters 

 

Q120. (I) You can tell within seconds if a person or business is ___________ with itself or with its 

customers. 

(II) Everyone wants plants in their bathrooms but plants don’t get any sunlight, yet people are 

_________ with the idea. 

(a) diverse 

(b) obsessed 

(c) access 

(d) incorporate 

(e) suitable 

 

Q121. Which bank has announced a strategic partnership with Adobe to enhance the Digital 

Experiences of its Customers? 

(a) Axis Bank 

(b) HDFC Bank 

(c) Indusind Bank 

(d) IDBI Bank 

(e) Bank of India 

 

Q122. Which country has decided to construct a monument for the Indian soldiers who died in 

1971 during the Bangladesh’s struggle for independence from Pakistan? 

(a) Bangladesh 

(b) Myanmar 

(c) Maldives 

(d) Dubai 

(e) USA 

 

Q123. Mohamed Ould Bilal has been appointed as the new Prime Minister of - 

(a) Mauritania 

(b) Republic of Trinidad and Tobago 

(c) Republic of Equatorial Guinea 

(d) Peru 

(e) Belarus 
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Q124. Indian Bank has launched an e-learning platform for its employees, named as- 

(a) Ind Teacher 

(b) Ind Sir 

(c) Ind Guru 

(d) Ind School 

(e) Ind Learning 

 

Q125. Which state has entered into a partnership with Israel to establish a one of a kind Centre of 

Excellence(CoE) on high-value vegetables in the state to improve and promote the livelihoods of 

farmers? 

(a) Mizoram 

(b) Nagaland 

(c) Assam 

(d) Meghalaya 

(e) Tripura 

 

Q126. Which Ministry has entered into an MoU with “Swiggy”, one of the leading food delivery 

platforms, to onboard street food vendors on its e-commerce platform? 

(a) Ministry of External Affairs 

(b) Minustry of Labour and Employment 

(c) Ministry of Housing and Urban Affairs 

(d) Ministry of Defence 

(e) Ministry of Home Affairs 

 

Q127. Which country hosted the 19th Meeting of the Shanghai Cooperation Organisation (SCO) 

Ministers of Foreign Economy and Foreign Trade? 

(a) Kazakhstan 

(b) Uzbekistan 

(c) Russia 

(d) China 

(e) India 

 

Q128. Who became the first Indian woman to win the 2020 

Wildlife Photographer of the Year award? 

(a) Karuna Nundy 

(b) Geeta Goel 

(c) Ankiti Bose 

(d) Aishwarya Sridhar 

(e) Monika Shergill 
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Q129. What is the theme of World Migratory Bird Day 2020? 

(a) Birds Fly 

(b) No Birds No Environment 

(c) Better Wildlife for Better Tomorrow 

(d) Birds for World 

(e) Birds Connect Our World 

 

Q130. _______ has been selected by NASA to build the first cellular network on the moon- 

(a) Nokia 

(b) Samsung 

(c) Facebook 

(d) Google 

(e) Apple 

 

Q131. EEB stands for- 

(a) Emerging Enterprises Business 

(b) Emerging Entrepreneurs Business 

(c) Entrepreneurs Emerging Bureau 

(d) Emerging Ethical Business 

(e) Emerging Entrepreneurs Bureau 

 

Q132. 75th anniversary of the end of World War II was observed on- 

(a) 2nd july 2020 

(b) 2nd August 2020 

(c) 2nd sept 2020 

(d) 2nd october 2020 

(e) 2nd November 2020 

 

Q133. Which country has successfully launched “APSTAR-6D” telecommunication satellite? 

(a) Russia 

(b) China 

(c) Japan 

(d) Israel 

(e) Pakistan 

 

Q134. What is the capital of senegal? 

(a) Reykjavik 

(b) Pyongyang 

(c) Managua 

(d) Dakar 

(e) Lilongwe 
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Q135. ‘Digital Seva Setu’ programme has been started by which state? 

(a) Gujarat 

(b) Haryana 

(c) Punjab 

(d) Kerala 

(e) Manipur 

 

Q136. The central bank of India has imposed a penalty of Rs 22 lakh on Which Bank for non-

compliance with certain provisions on marketing/distribution of mutual fund/insurance etc? 

(a) HSBC Bank 

(b) RBS 

(c) DCB Bank 

(d) Bank of America 

(e) HDFC Bank 

 

Q137. Shane Watson retires from Which sport? 

(a) Badminton 

(b) Cricket 

(c) Hockey 

(d) Football 

(e) Basketball 

 

Q138. India has entered into a Memorandum of Understanding (MoU) with Which country in the 

field of Intellectual Property (IP) Cooperation? 

(a) Denmark 

(b) Niger 

(c) Japan 

(d) Australia 

(e) Maldives 

 

Q139. The Federation of Automobile Dealers Associations (FADA) has announced the 

appointment of ___________as its 35th President for the year 2020-22- 

(a) Pramod Chandra Mody 

(b) Aveek Sarkar 

(c) Ashish Harsharaj Kale 

(d) Vinkesh Gulati 

(e) Preeti Sudan 
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Q140. Which bank has launched “Signature Visa Debit Card” for high net worth individuals who 

are maintaining an average quarterly balance of Rs 10 lakhs and above? 

(a) Vijaya Bank 

(b) UCO Bank 

(c) IDBI Bank 

(d) Bank of Baroda 

(e) Bank of India 

 

Q141. What is the Rank of India in “Global Economic Freedom Index 2020 Annual Report"? 

(a) 105 

(b) 106 

(c) 107 

(d) 108 

(e) 109 

 

Q142. Bagurumba is a folk dance of Which State? 

(a) Odisha 

(b) Jharkhand 

(c) Chattisgarh 

(d) Assam 

(e) Manipur 

 

Q143. Who has bagged the Dada Saheb Phalke Award 2020 for a short documentary “Chi Lupo“? 

(a) Sachin Awasthi  

(b) Gurbux Singh 

(c) K.K Shailaja 

(d) Kezang D Thongdok 

(e) Mohun Bagan Ratna 

 

Q144. World Youth Skills Day was celebrated on- 

(a) 2nd June 

(b) 15th July 

(c) 14th May 

(d) 6th August 

(e) 19th September 

 

Q145. “State Of The World’s Nursing Report-2020” has been released by which organisation? 

(a) UNICEF 

(b) International Energy Agency  

(c) WHO  

(d) UNESCO 

(e) IMF 
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Q146. “Mukhyamantri Shahri Path Vyavsayi Utthan Yojana" has been started by which state? 

(a) Madhya Pradesh 

(b) Maharashtra 

(c) Haryana 

(d) Uttrakhan 

(e) Kerala 

 

Q147. World’s highest-paid athlete for 2020 is- 

(a) Lionel Messi 

(b) Roger Federer 

(c) Neymar 

(d) Cristiano Ronaldo 

(e) Kobe Bryant 

 

Q148. Which Institute has developed a classroom-to-home teaching setup ‘Mobile Masterjee’? 

(a) Mylab Discovery solutions 

(b) Bharat Dynamics Limited 

(c) Defence Acquisition Council 

(d) IIT Gandhinagar 

(e) IIT Kanpur 

 

Q149. The 1st World Solar Technology Summit was heldmvirtually. The summit was inaugurated 

by- 

(a) Nirmala Sitharaman 

(b) Dharmendra Pradhan 

(c) Narendra Modi 

(d) Dr. Harsh Vardhan 

(e) Prakash Javdekar 

 

Q150. Which edition of Global Ayurveda Summit was virtually inaugurated by Vice-President 

Muppavarapu Venkaiah Naidu on the theme “Emerging Opportunities for Ayurveda during 

Pandemic”? 

(a) 1st 

(b) 2nd 

(c) 3rd 

(d) 4th 

(e) 5th 
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Q151. DIAT stands for- 

(a) Defence Institution of Advanced Technology 

(b) Defence Institute of Advanced Technology 

(c) Defence Institute of Advancement Trait 

(d) Debt Interest of AdvanceTransaction 

(e) None of the Above 

 

Q152. “RAW: A History of India”s Covert Operations” is Authored by- 

(a) Vijay Kumar Choudhary 

(b) Vasudev Jagannath Paranjpe 

(c) Neena Rai 

(d) Yatish Yadav 

(e) Anand Vasu 

 

Q153. What are the essential details required for remitting funds through NEFT system? 

(a) Beneficiary's Bank Name 

(b) Beneficiary's Account Type 

(c) Beneficiary's Account No. 

(d) Beneficiary's Branch IFSC 

(e) All of the above 

 

Q154. Parle agro has appointed_____________ as its ambassador- 

(a) Anil Kapoor 

(b) Priyanka Chopra Jonas 

(c) Akshay Kumar 

(d) Alia Bhatt 

(e) Kriti Sanon 

 

Q155. Which country is planning to host BRICS Games in 2021? 

(a) India 

(b) Brazil 

(c) Russia 

(d) China 

(e) South Africa 

 

Q156. Which Bank has decided to launch “SafePay” contactless 

debit card facility? 

(a) IDBI Bank 

(b) Bank of India 

(c) Axis Bank 

(d) HDFC Bank 

(e) IDFC First Bank 
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Q157. What is the Capital of Tanzania? 

(a) Niamey 

(b) Dodoma 

(c) Abuja 

(d) Managua 

(e) Thimpu 

 

Q158. Indian Railways targets to become ‘Green Railway’ by- 

(a) 2021 

(b) 2022 

(c) 2025 

(d) 2030 

(e) 2040 

 

Q159. Phansad Wildlife Sanctuary is located in- 

(a) Goa 

(b) Karnataka 

(c) Bihar 

(d) Rajasthan 

(e) Maharashtra 

 

Q160. Rudrendra Tandon appointed India’s next Ambassador to- 

(a) Pakistan 

(b) Belgium 

(c) Afghanistan 

(d) Czech Republic 

(e) Hungary 

 

Q161. PM Modi has launched India’s first seaplane service in which state? 

(a) Tamil Nadu  

(b) Karnataka 

(c) Gujarat 

(d) Uttar Pradesh 

(e) Punjab 

 

Q162. UNESCO has recently declared India’s Panna Tiger Reserve a ‘Biosphere Reserve’. In which 

state Panna Tiger Reserve is located? 

(a) Assam 

(b) Uttar Pradesh 

(c) Odisha 

(d) Madhya Pradesh 

(e) Tamil Nadu 
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Q163. 1.8 km long Feni Bridge, which is scheduled to be completed by December 2020, joins India 

with which of the following neighboring countries? 

(a) Pakistan 

(b) Nepal 

(c) Afghanistan 

(d) Bangladesh 

(e) Sri Lanka 

 

Q164. Who has been appointed as the brand ambassador of Dr Trust? 

(a) Rohit Sharma 

(b) Viswanathan Anand 

(c) Salman Khan 

(d) Suniel Shetty 

(e) Virat Kohli 

 

Q165. Which of the following organization has won the 2020 UN Global Climate Action Award?  

(a) World Food Programme 

(b) Green Climate Fund 

(c) Global Himalayan Expedition 

(d) UN Environment Programme 

(e) Intergovernmental Panel on Climate Change 

 

Q166. In which state India’s first ‘tyre park’ will be launched?  

(a) Chhattisgarh 

(b) Jharkhand 

(c) Maharashtra 

(d) West Bengal 

(e) Karnataka 

 

Q167. Who has been appointed as the new Chief Information Commissioner(CIC)? 

(a) Rajnesh Oswal 

(b) Sanjay Kothari 

(c) Dipankar Datta 

(d) B.P. Katakey 

(e) Yashvardhan K. Sinha 

 

Q168. Who is the author of the book 'Night of the Restless Spirits’? 

(a) Sarbpreet Singh 

(b) Apoorva Kumar Singh 

(c) Jokha Alharthi 

(d) Vasdev Mohi 

(e) N Chandrasekaran 
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Q169. Which company has topped the list of ‘World’s Best Employer 2020' published by Forbes’? 

(a) Apple 

(b) Saudi Aramco 

(c) Adobe 

(d) Samsung 

(e) Oracle 

 

Q170. What is the rank of Indian men’s football team in FIFA's latest ranking? 

(a) 101 

(b) 103 

(c) 108 

(d) 109 

(e) 111 

 

Q171. Which bank has recently signed a $1 billion loan agreement with Japan Bank for 

International Cooperation (JBIC)?  

(a) Central Bank of India 

(b) Punjab National Bank 

(c) Canara Bank 

(d) State Bank of India 

(e) Allahabad Bank 

 

Q172. Which bank has been named Asia's Safest Bank for 12th consecutive year by New York-

based trade publication Global Finance? 

(a) Standard Chartered Bank 

(b) RBL Bank 

(c) HSBC Bank 

(d) ICICI Bank 

(e) DBS Bank 

 

Q173. Who among the following is the first plastic currency issued by a bank? 

(a) ATM 

(b) Debit Card 

(c) Credit Card 

(d) Store Value Card 

(e) None of these 
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Q174. In order to boost the credit growth, the Reserve Bank of India (RBI) has eased Cash Reserve 

Ratio (CRR) requirement of commercial banks for________. 

(a) One year 

(b) Two years 

(c) Three years 

(d) Four years 

(e) Five years 

 

Q175. Who is the chairperson of the six-member monetary policy committee (MPC)?  

(a) Finance minister 

(b) Finance Secretary 

(c) Governor of the RBI 

(d) Deputy Governor of RBI 

(e) None of these 

 

Q176. Primary Dealers (PDs) and all-India financial institutions (FIs) were also permitted to issue 

Commercial Paper (CP) to enable them to meet their ______basis funding requirements. 

(a) Short-term 

(b) Long term 

(c) daily 

(d) hourly  

(e) None of these 

 

Q177. Which of the bank has collaborated with Affordplan to launch co-branded health card 

called ‘Swasth Card’? 

(a) Axis Bank 

(b) Yes Bank 

(c) ICICI Bank  

(d) HDFC Bank 

(e) None of these 

 

Q178. Payments banks will be required to invest minimum what per cent of its "demand deposit 

balances" in Statutory Liquidity Ratio (SLR) eligible Government securities/treasury bills with 

maturity up to one year?  

(a) 75 per cent 

(b) 25 per cent 

(c) 45 per cent 

(d) 55 per cent 

(e) 95 per cent 
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Q179. For loans up to how much amount, RBI has asked lending institutions to implement waiver 

of interest on interest schemes? 

(a) Rs 2 crore  

(b) Rs 5 crore 

(c) Rs 10 crore 

(d) Rs 15 crore 

(e) Rs 20 crore 

 

Q180. Which Bank became the first bank to go live as a ‘Financial Information Provider’ (FIP) on 

RBI’s 'Account Aggregator Framework'? 

(a) IndusInd Bank 

(b) Axis Bank 

(c) Citibank 

(d) HDFC Bank 

(e) IDFC First Bank 

 

Q181. Which of the following companies has launched the ‘Audible Suno app’ in India? 

(a) Google 

(b) Flipkart 

(c) Amazon 

(d) Microsoft 

(e) Alibaba 

 

Q182. Which corporation has launched Unified Payment Interface (UPI) awareness campaign “UPI 

Chalega”? 

(a) RBI 

(b) SBI 

(c) NPCI 

(d) SEBI 

(e) NHB 

 

Q183. Total Credits should not exceed in BSBDA? 

(a) 2,50,000 Rs (in a year) 

(b) 2,00,000 Rs (in a year) 

(c) 5,00,000 Rs (in a year) 

(d) 1,00,000 Rs (in a year) 

(e) 1,50,000 Rs (in a year) 
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Q184. What is the minimum age at which a subscriber can join the Atal Pension Yojana? 

(a) 18 years 

(b) 19 years 

(c) 20 years 

(d) 21 years 

(e) 15 years 

 

Q185. MV Nair Committee was recommended for 

(a) Foreign Sector Lending  

(b) Private Sector Lending 

(c) Public Sector Lending 

(d) Priority Sector Lending 

(e) None of these 

 

Q186. Which space agency’s Stratospheric Observatory for Infrared Astronomy (SOFIA) has 

discovered water on Sunlit Surface of Moon? 

(a) ISRO 

(b) NASA 

(c) JAXA 

(d) Roscosmos 

(e) CNSA 

 

Q187. Who is the current Governor of Telangana? 

(a) Baby Rani Maurya 

(b) Bandaru Dattatreya 

(c) Tamilisai Soundararajan 

(d) Najma Heptulla 

(e) Vajubhai Vala 

 

Q188. Which of the following company has been named title sponsor for 2020 Women’s T20 

Challenge? 

(a) Dream11 

(b) Vivo 

(c) Jio 

(d) Byju’s 

(e) Unacademy 

 



46 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

Q189. Who has become the New Zealand’s first-ever Indian-origin minister? 

(a) Yashvardhan K Sinha 

(b) K Mahashweta 

(c) Satish Mishra 

(d) Anzar Mustaeen Ali 

(e) Priyanca Radhakrishnan 

 

Q190. Which state has been awarded the best governed state in the country in the large states 

category, according to the Public Affairs Index-2020 released by the Public Affairs Centre (PAC)? 

(a) Kerala 

(b) Madhya Pradesh 

(c) Bihar 

(d) Jharkhand 

(e) Tamil Nadu 

 

Q191. What is the capital of Germany? 

(a) Cuba 

(b) Vienna 

(c) Moscow 

(d) Canberra 

(e) Berlin 

 

Q192. Hyderabad is located on which River in the heart of the Telangana Plateau. 

(a) Narmada River 

(b) Penna River 

(c) Musi River 

(d) Sutlej River 

(e) None of these 

 

Q193. Maithon Dam is built on the river of Barakar located in which state? 

(a) West Bengal  

(b) Odisha 

(c) Uttar Pradesh 

(d) Bihar 

(e) Jharkhand 
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Q194. Which state government has inaugurated the state-run power giant National Thermal Power 

Corporation Limited (NTPC)’s 250 MW Solar Power Plant?  

(a) Haryana 

(b) Uttar Pradesh 

(c) Madhya Pradesh 

(d) Gujarat 

(e) Rajasthan 

 

Q195. The novel “Eleventh Hour” is authored by 

(a) Karan Thapar 

(b) Arun Shourie 

(c) Madhu Trehan 

(d) Hussain Zaidi 

(e) None of these 

 

Q196. The Banking Ombudsman Scheme was first introduced in which year? 

(a) 1995 

(b) 2006 

(c) 1990 

(d) 2000 

(e) 1997 

 

Q197. FDs range between a maturity period of- 

(a) Ten Days to 12 years 

(b) one month to 2 years 

(c) six months to 10 years 

(d) seven weeks to 5 years 

(e) seven days to 10 years 

 

Q198. Suggi Kunitha is a festival dance of which state? 

(a) Karnataka 

(b) Andhra Pradesh 

(c) Telangana 

(d) Odisha 

(e) None of these 
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Q199. Kalidas Festival is an important festival of which state? 

(a) Goa 

(b) Uttar Pradesh 

(c) Maharashtra 

(d) Bihar 

(e) Jharkhand 

 

Q200. The Anshi National Park is located at a distance of 60 km 

from Karwar in Uttara Kannada district of 

(a) Tamil Nadu 

(b) Karnataka  

(c) Andhra Pradesh 

(d) Telangana 

(e) None of these 
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